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Zahl geht max. bis 100.

T18 = { 1, 2, 3, 6, 9, 18 }
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T3 = { 1, 3 }
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T8 = { 1, 2, 4, 8 }
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T74 = { 1, 2, 37, 74 }
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T91 = { 1, 7, 13, 91 }
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T69 = { 1, 3, 23, 69 }
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T16 = { 1, 2, 4, 8, 16 }

6
—
4 

T10 = { 1, 2, 5, 10 }
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T76 = { 1, 2, 4, 19, 38, 76 }
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T66 = { 1, 2, 3, 6, 11, 22, 33, 66 }
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T23 = { 1, 23 }
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T62 = { 1, 2, 31, 62 }
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T49 = { 1, 7, 49 }
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T68 = { 1, 2, 4, 17, 34, 68 }
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T4 = { 1, 2, 4 }
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T82 = { 1, 2, 41, 82 }
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T51 = { 1, 3, 17, 51 }
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T34 = { 1, 2, 17, 34 }
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T22 = { 1, 2, 11, 22 }
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T53 = { 1, 53 }
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T89 = { 1, 89 }

6
—
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T88 = { 1, 2, 4, 8, 11, 22, 44, 88 }
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—
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